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2N (170MeV, 170MeV + AE)
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2N (170MeV, 170MeV + AE)
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2N (30MeV, 30MeV + AE)
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- Last meeting - Reconstruction efficiency with different threshold

1N number of events : 104
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**"Reconstruction efficiency with different threshold

2N number of events : 104 2N (30MeV, 30MeV + AE)
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**"Reconstruction efficiency with different threshold
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*"'Reconstruction efficiency with different threshold

2N number of events : 10* 2N (170MeV, 170MeV + AE)
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Detector efficiency with different threshold

Number of events : 104
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